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No M 2% wE | W D H
= B 44t

1 BERE 3fE ML 1 1,800 800 720

2BERE 3fE  |ElERLY 1

3BERE 3PE | L 1 400 800 7,200

4EBEERE 3 |PCHL (U v&—5) 1 900 700 700

5 EERE 3 | BXRO Y AH— 1 450 500 1,800

6 EERE 3B | BE 3 1,800 45 1,800

1EBEERE 3 |=EAT—TL 1 3,200 1,200 710

8 EERE 3 | REABT 10

IEERE 3 | N—F—av 1 2,150 60 1,520
10 BERE 3 |a— b H— 1 300 300 1,700
11 BBERE 3fE  |[ElERLY 1
12 BIBERE 3 | BXRO Y A— 1 450 500 1,800
13| EEERE 3B | BE 1 900 400 1,800
14 BIBERE 3 | TrA U IEYERY b 1 400 600 1,300
15 BIBERE 3 | mEAT—TL 1 1,800 750 700
16 BIBERE 3 mEABT 6
17|1B=% 3B AL 1 1,400 700 700
18|1B=% 3B B 1 400 700 700
19/1B=% 3 mEAT—TL 1 700 700 700
20| AEB 3B AL 26 1,400 700 700
21| AEB 3B AL 18 1,000 700 700
22| AEB 3B |[EERWT 43
23| AEB 3 | BXROYAH— 1 450 500 1,800
24| AEB 3B B 4 400 700 700
25| 2B 3 Bl (73 rAT) 1 400 700 600
26| AEB 3 Bl (ZrAaU>Y) 1 450 600 700
27| AEB 3 T4 IEvER Y FAL 8 400 600 1,350
28| A 3 74U IErvERy B4 4 450 600 1,400
29| AEB 3 EBE 4 1,800 400 1,800
30 | AEB 3 EBE 2 1,500 400 1,800
31 | AEB 3 EBE 12 900 400 1,800
32 | AEB 3 BE 3 1,100 400 900
33| A&EB 3 BE 1 1,500 400 900
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34 3 | BE 9 900 400 900
35 3 |=EAT—TL 1 1,500 750 700
36 3 | RERBT 4

37 3 (MU T I 50 500 350 600
38 3 [TV EAT—TIL (fFER) 2 1,800 450, 700/100
39 3 | N—F—av 1 1,200 50 1,500
40 3 | N—F—av 1 1,500 50 1,500
41 3 | N—F—av 1 900 50 1,500
42 3 | N—F—av 1 900 50 1,200
43 3 | N—F—av 1 800 50 1,600
44 3 | 1 600 600 900
45 3 | 1 400 450 500
46 3 | TUr&— 1 400 150 400
47 3fE | BRI 1 900 400 1,800
48| &% 3k | EE 3 900 400 1,800
49 3B | BE 1 450 400 900
50| 2= 3 74U IErvERY b 2 400 600 1,300
5l | REE 3 | =EAN GTYER) 9 1,800 450 700/100
52| REE 3 | REART 26

53| REE 3 Y ALY 23

b4 | REE 3 | RE 2

55| ERE 3 | BXROYAH— 1 300 500 1,800
56| ERE 3k | BXROYAH— 3 450 500 1,800
57| EXRE 3k | BXROYAH— 8 900 500 1,800
58| ERE 3 | BXROYAH— 4 600 500 1,800
59| BRE 3k | BXROYAH— 1 700 500 1,800
60| EXRE 3B B = 1 1,800 500 400
61|0= 3 |EBE 4 900 400 1,800
62| D= 3 |EBE 1 900 400 2,150
63 NE 3 |EBE 1 450 500 1,800
64| D= 3 | LEBEEW 1 900 400 400
65 NE 3 | =EAN GTYER) 8 1,800 450| 700/100
66 N=E 3 | REAET 1

67| 7= 3fE I el AamTF 5

68 NE 3 | AETF 1




No M 2% wE | W H
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69 NE 3 | N—F—av 1 1,500 50 1,700
70|14 —nn—5%= 3B |EE 6 900 400 1,800
71| —n—%= 3k | EBE 1 1,500 400 1,800
72| —nN—3= 3B |EE 1 750 450 1,100
13| —nN—%F 3k | EEW (FERE) 1 900 450 1,800
T4 Y —N—%F 3 | N—F—av 2 900 50 1,250
75| —/N—%= 3 |OATRZ 1 1,500 900 1,300
76| —/N—% 3 |OATR Y 1 1,400 900 1,300
77| —N—% 3 |OATRZ 1 700 900 1,300
78| —/N—F 3 |OATRZ 1 600 900 1,300
79| —N—%F 3fE  |[EEREF 1
80| —nN—=F 3fE | EF 1
81| Y —nN—=F 3fE |HTY S AT 4
82| SEE g |EEHR—IL 100
83| BE TR |ERHR—IL 100
X EH
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